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Answers are circled in Red Colour PAPER - II
SECRETARIAL ABILITIES
1 WEIkingaténfharnurmal speed, Anjalitakes 3. Anil can complete a work in 15 days by
6 working 8 hours per day. Sanjay can
20 minutes more to reach her office from complete the same work in 25 days by
home. What is the usual time taken by her to warking 6 hours per day. If both of them work
cover the distance between her home and together 8 hours each per day, in how many
office 7 days the work will be completed ?
(1) 44 min. (2) 90 min. (1) ?;—:‘;'- days (2) E%g days
{3) 120 min. {4) 100 min, 11 11
: 5 (3) 637 days (4) 737 days
Araduarenr S&F Fod' = I Jod
& @S Ferd 8 fotre 1Tiy ) HATH wé
S0 SAR wozd), 2ol H0A whing AN 15 Bz b Tk, w8 532
BERE 20 Daren oy HRS06, dozch Farkh 6 fiober T HATH
i SaoB. ahiis 25 Hard® 0 T, 5808r Fary
VEORor S& 208 Lol epd 9 HoL® TS DD HITD © 1D
FTERE Do BHoho Hhod 7 ' ESERE IR0 Faren Hdood ?
(1) 4422ren  (2) 90dMAew () 75 Bwen  (2) 633 Faven
3 alar 100 Q&0
@) L0penong; ‘ 00 RJRRe (3) 63 Ewen ?%ﬁ‘ama
2.  Train A leaves Secunderabad station at6 AM |4, A and B can complete a work in 60 days, B
with a speed of 60 kmph towards g:d C GEITmt::mplaie IL I; Bri ;:ta%igni and {,:
n comp e same work in ays.
Visakhapatnam. Another Train B |eaves how many days, B alone can do that work 7
Secunderabad station at 8 AM with a speed 2, & &0 2.8 HAD 60 S’ 138 Tarte.
of 80 kmph towards Visakhapatnam. How ®©F DN D, B en 80 Haee -
many kilometres from Visakhapatnam wil 120 82’ 530 ST, & 59 D 2.8, 8
trains cross each other, If the distance DRy G 8 Jaran 7
betwesn Secunderabad and Visakhapatnam (1) -94 % (8 80 (4 92
is 600 km ? 5.  Three pipes A, B and C are avallable to fill a
(1) 240 km (2) 375km tank. The time taken to fill the tank by A Is 15
hours and by B is 10 hours, The time taken to
(8) 225km | (4) 360 km fil the tank by both A and B together Is equal
2 ®F Den &Sabo 6 Hodesdy to the time required for C to fill it. How much
Solmerd DHS Sod Drmnir D8 Er;:ﬁ;gg;:;d?tn fill the tank by all the three
60 8.30./50& Jrod' nabendtod, LHEE (1) 4.5 hours (2) 6hours
& (3) 3hours (4) 4 hours
gm AR-Talev\e auﬁnuuéa ~Bo|orer s D, 5), % ©F FePew 2, er50% DoHEDA
DA wod Irwder 8 90 £ /Mo woerends daon. & Eriod
Sod’ achenBhaos. HomrarSs D 15 Ho&S, O 10 fosrs’ Dodywow.
DrpnerdE s &rSo 600 &, 2 8 o Dodr 38D © ersosid
ma ; 08 w DOHERE HE HIOHO B’ & 308D
POOS, STOnines Dol G VoIV HH  AHOWIE  BEFSo.
Dodh B, 2.8 R TS crenaraw ? S FPen 0D & Arjofd
240 8.5, (2) 37585, ‘?03’4‘35"'“: iﬂé f"‘)ﬁgﬁfﬁﬁ’f"@ ?
.5 ffodyen odien
(3) 225820, (4) 36082, @ 3 Kosen (@) 4 fiosen
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If area of a square shaped plot is 18,225
square metres, what is the length of diagonal
of the plot (approx.) ?

(1) 125m (2) 225m

(3) 190m (4) 13s5m
SHFredod’ ) a8 Fen JIroso
18,225 S&6H Db wond, e e
3oy, §Go dTod (ooHm) 7

(1) 125 Doeadd (2) 225 2éath

(3) 190 dverth 135 Sty

There are 40 people in a group. If all shake
hands with one another, how many
handshakes are possible ?

28 DSurros’ 40 Hod Sgiven dary .
08 2580 B8 2588 SSooco
IR Jwdo Iy WTome G0
0. ErC) 7

780 (2} 880
(3) 380 {4) BOO

%atlssuﬂanaamaafaﬁmﬂﬂmxscm
brick 7

(1) 480 cm? (2) 240 cm?

(3) 230om? {4) 480 cm?

12 2080, x 10 od. x 5 oo

Sodw o xtnd Gvg, Hoirdse

STOI0 0eh 7
460 To.202

(3) 230 Do.dn2

(2) 240 o5z
) 480 70.80.2

It height of a cylinder is 50 em and radius Is
14 cm, what is the volume of it 7

(1) 31,800 cm? (2) 33,800cm?

(3) 30,800cm? (4) 32,800 cm?®

2.8 PrHo Ty I 50 Do.do, argrdo

14 R0 s o0 8 H83T00

)Oeh ?

(1) 31,800 0.3 (2) 33,800 Do.22
30,800 Ro.a02 (4) 32,800 0.5

10.

11.

12.

Y (3) 714,500

13,

Speed of river Is 8 km/hr and speed of a
motorboat In still water is 32 km/hr. How
much distance can It cover downstream in 40
minutes 7

N o 8 Ednsfos LB Deks
NBS" 2E06s o a2 /Koe
LaE D8 aend 40 Aard'
&8 5chad O S80 Hebiod 7

(1) 25% /8. (2) 25 km/8&n,
(@) 282 k8. (@) 26%km et

A vessel Is filled with liquid, 3 parts of which
are water and 5 parts syrup. How much of the
mixture must be drawn off and replaced with
water so that the mixture may be half water
and half syrup ?

a8 PSS 1SS0S 3 Soden He,
5 sdodhen ST @od. JS$Sod D
2BSreod’ B350 Sehod, o Arsod
A DoDB, SO)S oS dtio He,
dffo REDM erotrown ?

MmE @3 @ @ &

¥ 5,000 amounts to ¥ 7,500 in 5 years at a
certain rate of simple Interast. If the rate of
Interest is increased by 8%, T 10,000
amgounts in 3 years to
(1) 15,200 (2) T 15,400

(4) T 15,000

Fod DE¢ SO Sens’ & 5,000 wHen
5 Hose oS’ G 7,500 o Bwonod,

54 Bend 8% ODE &7, 10,000 ©Ben 3

dosdyod’ Jos O W0 ?

(1) & 15,200 & 15,400

(3) & 14,500 4) & 15,000

The difference batween simple and

compound Interests compounded annually
on & certain sum of money for 2 years at 6%
per annum is ¥ 36. What is the sum ?
Soeb o) D Both DoSe yomerd) 6% 358
Send’ H8¢ 58, BiEsbdo Tso T .
O, 65 daw) ok ?
210,000 (2) T 12,000
T 8,000 (4) T 9,000
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The angle betwsen the minute hand and the
hour hand of a clock when the time ls 5.25 ja:

(1) 12%Degrees (2} 12% Degrees

(3) 11%Degrees  (4) 113 Degrees

5 fotey 25 e Bdchos
AGArEos'a Hote doends, Dvare
SNEVED a1 S0 o 7

(1) 12-1? Bi(fiex @ TF.% &iflen

(3) 11% Gifiex (4) 11% &|fen

Intreducing a person, a lady said, “He Is the
son of the brother of mother of my fathar.*
How is the person related to the lady 7

(1) Nephew (2) Uncle

(3) Brother (4) Causin

2.8 S8R HaScho TP 28 Hire &
JGOm THYod. “asd A S0l 3oE)
SO FSHA TRR". & 358 @& Stres

SJeddadEdsy 7
(1) edewd @m&aﬁ
(3) RSBk 4) 5388

Sunitha started from her house towards
south. Aftar covering 12 km, she turned her
left and travelled a distance of 5 km. What is
the shortest distanca now from her house 7

WS $Y 208 oA S8mo AiS
DArSPB. 12 km  (HorEods
SDad e &35 8% Dy 86A
S km (Dolrdodod, afd Hod &8

20838 edie) Grdo Jods 7
(1) 23 km 13 km
(3) 17 km (4) 7 km

17.

18.

18.

What was the day of the wesk on g QOctobar,
2004 7

(1) Friday (2) Saturday
(3) Monday (4) Wednesday
8 @§5, 2004 ek D T80 woRos 2

@ HETSo (2) $Darso
(3) &Fabardio (4) 2wudardo

The calendar for the year 2018 will be the
same for which of the following vear 7

2018 QoDSy80 sEDoss, & i:fela}
TES' D Hossyto £Bodby O
Sotnod ?

(1) 2030
(3) 2023

(2) 2031

2&29

At what time between 10 and 11 o'clock will
the hands of a clock be in the same straight
line but, not togethar 7

g
— [ =
(1) 21 = min, past 10 ;

min, past 10

10
{E:lr 21 1

3 22—
© 22~

min. past 10
10
(4) 221—1 min. past 10

10 fio. 11 flo.e S&s fASTrEos® Bok
Sweper M8Sdotsioa 2.8 1E¢ Bp s
oy ) Fodra ?

Q9
@ 10 flotse 21 = 2,

(2) 10 Hosyes 21 -i-g Q.
9
(@) 10 ﬁoe.mzz;l- 2.

10
(4) 10 fotaer 22 7] ),
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21,

22.

23,

24.

— e wn_m ey BT

If A+ B means A is the mother of B, A x B
means A is the husband of B and A + B
means A is the daughter of B, In the
expression Y x Q + Z + K, what is the relation
between Zand Y 7

(1) Zis the daughter of Y.

(8) Zisthe father-in-law of Y.

(3) Zisthe fatherof Y.

(4) Zis the mother-in-law of Y.

D+ D oot ), D FEwEy 80, D x H wods
=), &) Ty IG, J+ D wod ), H G
Sréodh wond IxSrr:ab+ TS
2068 38 ¢ a1 02080 DB ?

(1) 24, 3 gy Susr

(2) 24, 2 g, S

(8) =&, 3 Tog) Sold
@ a8, 3 Gns) ead

Find out the next number In the following
series .

(Eod FeIS" Sthared Homid SfSod,

32,3, 4,8,8, 15,14, 7
24 (2) 26
)

28 {(4) 22

Find out the next number in the following
serles.

8o FdS' dtoard Hoggd ErSoa.

1.1.5, 48, 11, 189, 1§
(1) 529 351
(3) 256 4) 324

Find out the next number in the following
series :

80d (FheS’ share Homyd SoFsos.
45678812, 5678912, 567891, 7

(1) 567892 (2) 678912
5?351

(3) 56789

Whatis the missing number in the following 7
1508 (B D3 Do A7

300, 286, 287, 271, 7, 210

(1) 250 (2) 248 (3) 244 2¢s

What is the wrong number in the series 7
1808 HAS' by 3 &Sy Homy DA ?
2B, B4, 112, 196, 308, 504, 872

@504 (2) 872 (3) 84

(4) 308

40318

27.

28,

Pramod walks 4 km from office, tums right
and walks 3 km, then he turns left and walks
B km, Again turns left and walks for 3 km. At
the end, he notices that he is facing towards
wesl. In which direction was the office from
the present place 7

(1) North (2) South

(3) East (4) West

SErS &8 e dod 4 &N 3AD
S08Z:08 30N 3 8.2 SAD, Somred Ak
55528 860 8 £.00. 33D L9 i 3
880 3 S Ao, OIS was
DS BFK DT &1t KD,
(D& o Hod o8l edin D AS
&0 7

(1) addo
(3) &) ()

&Smo
e Yo BN Tl

InA B C D, ... XY, Z(28 letters series)
which is the 6" letter to the |eft of 9" latter
from the right end 7

A, B ,C D, ....X Y, Z (26 ofore |E0) &
80048 D38 Hod 95 =icDE 8%

D838 &Sy 65 @880 DA ?
L 2 M
(3 J (4) K

If the word "UNIVERSITY" iz reversed and in
the reversad word third and sixth lstters are
interchanged, what is the sixth letter from the
left ?

UNIVERSITY &3 H0'R) stars o2,
8 SO0 DB  Srdss  ess

wiood DHE0)80 I8 y3Gond,
ABSIDY 08 63 @EB0 DA ?

(1} E (2) 8

@ R :
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29.

30.

at.

QAT ehEErC ?
®2DEE (2) 2027 (3) 2024 (4)

32.

40318

3 1
After adding 3 and subtracting 2 from a

4
fraction the new fraction is —?: What was the

initial fraction ?

2.8 ammgg D 8O, -

(=1

R

::; SR edo07

69 )
(1) 768 2) 768
89 79
168 (4) Y88

Which of the following fractions sequence Is
in descending order ?

808 85 D DdEd os8ro
K50 &0l ?

e —

In the year 2010, population of village A was
72,000 and village B was 64,000, The
population of village A has been decreasing
at the rate of 300 per year and population of
village B has been ingreasing 200 per year,
In which year, the populations of both the
villages will be equal 7

2010 HosSdétod’ A e@F (M aFar
72,000, B &3 e a7 64,000 T &0A,
A (P8 Zarey SoNs3TRE 300 Fay)a
S Fod, B [[Ted 257r2r D0 yorA8
200 SRS dbhér @od D
Sods 8o Dot (Tare awer

2025

t2 +2 = 2 whatis the value of 2 2
¥ Z 3 3x
2

2 41 = B aond < denddos?
» 2 3 3x

3 4
0 % @

18 5
(3) 77 @) 17

=

- 1A
n

33. ‘What is the value of 55, 64,328 =125 7

35. |f the sum of the two numbers is 20 and their

product is B4, what is value of the sum of
_ squares of those two numbers 7
“B0th Somin Two 20 LA ©O
784 won® & Do Jonie STe Indo
D087 ¥

1} 202
232

A, B and C are running in same direction
around a circular playground and all the three
are starled from same point. If A, B and C
complete one round of running in 42, 68 and
126 seconds respectively, when do they meel
again at the starting point 7

(1) After 71 Minutes 24 Seconds

(2) After 72 Minutes 24 Seconds

(3) After 70 Minutes 24 Seconds

{4) After 71 Minutes 26 Seconds

D, D, Hewad SIS SyTeds et 0o
S0ty 2.5ar0, 2.8 o dod Henddo
BréodoTrdy. af HBHNTE A D,
2 o [Edom 42, 68, 126 RED HAS
¢ Sudr pohendss Soos’ &Y
D0eh DeHoHo Sdared Senalrty 7

@ 71 .24 3, S

) 729 24 . ST
(@) 700,24 R, Sfoareh

UL b -l

-
'; (2) 250
(4) 208

(4) 71 .26 7. dhared

Series-C

55, 64,328 x125 Dend Joh ? ~a:
69,55,41,000 (2) 869,55,42,000
7 68,55.41,000 (4) 69,54,41,000 f
-
(286+796)*-(286-796)" _ " 3
286 x 796
(2B6+796)°—(286-796)°
286 %796 i o
4 (2) 2,164 1 .
@) 1,082 @) 510 =
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#6197 = 216 and 6% =7. 776, whatis |40. In & garden there are 33,856 lrees and

the value of b ?

pla-b) = 216, 619t =7776 eon&E b
T} Dewsd o ?

1y 2 @1 . (3 4 (4) 3

Krishnaiah gave 30% of his retirement
benefits to his wife. From the remaining
amount he distributed 20% each lo his 2
children. From the remaining, 50% of the
amount he donated to a school. If the final
balance left with him Is ¥ 42,000, what was
his total amount of retirement benefits 7

{1y 2,110,000 (2) ¥2.20,000

(3) T1,80,000 (4) ¥2,00,000
Sachy &3 &8y dbSes
HOOB0D SD3S Budod’ 30% ©S8D
ardigf) AT, DADD ool 20%
TR0 S G DV Hotrd, ROS
WROS oS, 50% L8 FSTes TS
Sach, D30 &8 SIS dr 42,000
QAOE, Eyach; o), &S5 DSty
[O20H0D SN B0 Jod ?

(1) o~ 2,10,000 (2) &, 2,20,000
(3) & 1,80,000 ti?. 2,00,000

Two persons have contested in an election
and 12% of the voters have not particlpated
in voting. 15 % of the polied votes are invalid
and 10 % of the polled voles are for NOTA.
Among the remaining votes, the winner got
60% and won the election with 2,640 votes
majority. How many voters are there In the
voters list 7

Q) SiSven e TS 28 A0 IS
12% S8 L6 L& JohT. FBES
208" 15% 4,80 TOE . 10% 4.0 'St
& HEron. DAOS LS’ 60% L0 Fod,
2,640 2.0 b3S wisS TOW, @
Lot =daS Jdod Hod Led

= Ceph o I
(1) 26,400 (2) 28,000
20,000 (4) 24,000

4.

42.

number of rows of trees |s equal to number of
columns of trees. How many rows of trees are
there in the garden 7

33,856 T e &8 Sud el SDde,
Dend oS SIS0 Lons,
et 223 el SHen Gy on ?

(1) 186 @134 @) 174 (4) 176

The average of 8 numbers is 23. Average of
first two numbers is 25 and the average of
next three numbers Is 17. If the average of
6™, 7" and 8" numbers is 2 more than the 8"
number, what is 9" number ?

9 o ged Mifen 23, Dwdhed Bod popie
e 25, adiared Sardd So%Ley ftn
17.6 63, 7 &, B &5 0358 Offtw, 9 & Dowy

50D 2 I5NIB, 8 S V0P 0 7
(1) 24 25 (3) 22 (4) 23

It 2 is added to the numerator and 3 is
sublracted from the denominator of a fraction,
the fraction becomes % If 1 is subtracted from
the numerator and 5 js added to the
denominator, the fraction becomes fi. What is

the sum of numerator and denominator of that
fraction 7

2.8 D510 TE) oand 2 Do, Sfdo
08 3 8530 & Do ~:— w3S08,
©50 0d 1 S2TH HFoRE 5 EDDB 8
D)0 ; @HHod 8 DI 0 TN O,

Sorew Ao oo 7
(1) 12

(2) 13
(3) 10 11

Difference of the current ages of father and
son is 30 years. 10 years ago, the product of
their ages was 400, what will be the age of

the father atter 8 years 7
(1) &3years (2) 53 years
(3) B8 years (4) 58 years

2.5 0|8 Tavke D Sohive Fdo
30 Modeyorew, 10 oS yore (8o 70
SO 0 400 @owEE, 8 Hodd T
Sared Sod Soba Joed ?

(1) 63 moigren  (2) 53 doioren

(3) 68 doiore 58 DOITHED
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In & monthly electricity bill, some par |s fixed
and other part is calculated based on the
actual consumption of power per unit price. In
a particular month for 500 units, the total
electricity bill was ¥ 2,000 and in another
month for 650 units, the total bill was T 2,450.
What will be the electricity bill, if the power
consumption is 725 units 7

1) T 2,700 (2) ¥ 2,800
(3) T2675 (4) T 2,650
Todd DS Dwd’ Fod o
S alelaunng MohErd TS0

DINTFAODS Deods cbrdS &8
Tad A o8 A0 Tod 500
Alrdd DATrrAS Gy 2,000, 0%
TereS' 650 clarddy DATrrE G, 2,450
Hen IDHod. 725 drds Ddngd
DT Joes DHew Spod ?
(1) &r. 2,700 (2) & 2,800
&, 2,675 (4) & 2,850

and, Bharath, Manas and Prakash have
invested in the ratio of 4:7:9:5 in a business.
Anand stayed in the business for 8 months,
Bharath stayed for 6 months, Manas stayed
for 9 months and Prakash stayed for 12
months. If the total profit earned is T 43,000,
what |s the difference between the shares of
profits of Anand and Prakash 7
(1) 5,400 (2) 58600
(3) 75,000 (4) T5,200
sS0b, H0E, Sradn [wFacn a8
Frsos 4:7:9:5 A2)8S DePad
2rS. @ auardod sdob 8 Joew,
S8 5 Toey, SraR 9 Toew, DR
12 o aith. 3o 308 erdo
& 43,000 @00SE, 6006, (PSR e
arere s0e5s Z0 Joes 7
(1) &3 5,400 &, 5,600
(3) & 5,000 & 5,200
15 workers working for 9 hours per day can
complete a work in 32 days. How many

workers by working B hours per day can

complete the same work in 20 days ?

15 o8 ek 9 fodre T DT

32 Bzred a& H0 ST 208 Nod

&2 8 fodie T30 HATH »l HAV
27 (2) 28

(3) 25 (4) 26

47.

49,

Azeez bought a scooter for some amount and
spent 20% of it for repairs. After the repairs,
he sold it for 30% profit. In the process Azesz
made T 3,600 as profit, what was the amount
spenlt on repairs 7

weil 2.8 Arpebl Fos Jwums §a),
D 20% Fadk by DETE. Sl
amons Shard o) 30% ergrad
wid whXi T 3600 ergdo SW,
r b ads o gda) Josk 7

(1) T 2.400 (2) T2700

(3) 21,800 z 2000

An Amount was distributed among A, B, C
and D in the following manner and B's share
is ¥ 1,600, What s the share cf D 7

A'sShare _ B's Share _ C'sShare
B's Share C's Share D's Share
(1) 78,000 (2) 3,200

(3) T2.000 {4) ¥ 2,500
Fost ZuTN o, D, 2, 8 e (fod 2d)d
1Bs*do Hodhiot D arder &7 1,600
30 & Ter Jod 7

datr Doty [T 4

Doty Doty Garér 5

(1) &r.3,000 2) &r 3,200

(3) & 2,000 &, 2,500

4
=~

Ratio of salaries of Kiran and Suman is 4:5
and after a hike of T 40,000 each in their
salaries the ratio changed to 5:6. What is the
current salary of Suman after the hike ?

(1) T2,40,000 (2) T2,52,000
(3) < 1,80,000 {4) T2,16,000
8565, uduSe dmen 4 ; 5 dAES
Ao 0. RGOE & 40,000 Say ) dsdo
2008 SaTs o8 oo QA8 5: 6
©ouod. ddo AN Shad o
Ty (D Zdo Do 7

& 2,40,000 (2) & 252,000
(3) &~ 1,80,000 (4) Go=2,16,000
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51.

52.
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How many dots are there on the dice face
opposite the one with four dots ?

1808 rOES 4 DKo% BT )
cofien o ?
)

(2) & (3 3 (4) 4

Two positions of a dice are shown below.
When six Is at the bottom, what number will
be at the top 7

goth Fod &Sy 28 03 Sod
255808, 6 1808 &S5y d 2 Job
otnod 7

e 8w a8 8
a8 8SE L

(i) (i)
m s (@)

@ 1
Study the following number seguence and
answer the question balow :
486251473985726315824863
852243496
How many odd numbers are there in the
saquence each of which Is immediately
followed by an odd number ?
1806 @S (FA erfidm Mo, o
Bodd @IES  1HNH  Jdreeo
orohod.
486251473985726315824863
B52243496 '
D [FS 2.8 B Jopy (B8S HE B
Dhomy STepm D) Bo Domien

(4) 2

6 (31 (4 2

Find out which of the letter series follows the
given rule,

Number of letters skipped in bsetween
adjacent letters in the series is in the order of
18, 2%, 3%

18025 2D DEHIFR) ©iHBoE ©id
Fd 287

ESoorr 12, 22, 32, --- ©EUTeD (DESE)
©i oo DS rﬁ)ud;haoa'ﬂ.
(1) KMUZ EGLV
(3) ACKR DFLO

11

565.

56.

§7.

There are two similar figures given bslow with
some numbers. Looking at the first figure
carefully, fill the suitable number in the
second figure in place of *7".

Sodh 2.3 erott Hiren §2) dopiewd
Ity & Sod adjagran. wdd
Herdy 2rEST KXo, Bods Hesod'
Do (7) &)l GodsoRs
HowLD EifSod,

(1) 100 (2) 280 (3) 202 @ 303

Find out the right one in place of '7".
? oS domdyd DS TR
Hhlodton.

BLD, VEPI, XHTN, ?
s (2) 2ZKXP (3) ZIVP (4) ZVJP

Jﬂtrmng]ef'il:}i:ir following words in alphabetical

order and find the 6" word.

& 808 &%) smed eid Ehods

.0 625 Harmy Sfdod.

Discipline, Dialogue, Dexterlty, Dimension,
eter, Diagram, Devour

@"Dimansion (2) Diameter

) Dialogue (4) Disclpline

Choose the word which is different from the

" rest

(1) Papaya (2) Brinjal

(3) Cabbage (4) Cucumber

Bod -8s Hlor aS) oV
esods.
Farjow

(3) sgo

-(2) Sosdd
(4) Sdsad

Find the minimum number of straight lines
required to make the given figure.

$0& 3DA Herd) N8BT R8s
EDROT AV0EE Open S5O 7

L/

(2) 17

(1) 16 @) 11 4

Series-C
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B1.

Find out the right figure from A, B, Cand D in
the place of '?' to continue the series.

380 FidrfodoRE 7 Feod
GOSINS A0S HerRy A B C D ©
208 lodod.

Problem Figures / fehar g aéren :

XX 2

Answer Flgures / 2deir ) Héren :

ba8 | iomi] B8
(A)  (B) > (C@Am]m 5

(1 ¢ @,
Find out the right figure from A, B, Cand D to
complete the figure given below.

5od HerRyHoargo Tobaad A, B, C,
D & H0& 2D Hervy Mlodod.
Problem Figure / dedorrg Hé0:

s [0
ARG
o \\_

o
Answer Figuras / Qeirgrdd e :

o\ o ° P/E

] . o ®

@B} (C) (D)
v}

@A (4B
Select a figure from amongst the Answer
Figures which will continue the same series
as established by the five Problem Figuras,
Bod® =l DRy Dired
EITAODEAS Dew JArers dered’
R0 DerR)) Moo,
Problem Figures / 5:Harg Sér

X Mle X M|w
@ 8 wle 5 ®|X
. 8 Biw X
L] L]

Answer Flgures / 0aSrgmad Héren :

" K X a X A " E N & X
X & @ X & @ X & X x ® X
X = = L]

(B)
(2) D

(A)
(1) €

B X =N
" 8 w
LR
a @

x
[ ]

e 8 & ®
L
[ N ]

X e X

L]

(A)

@c

(C)
(3) A

(D)
(4) B

40318
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62,

63.

If the rectangle represents private
employees, the triangle represents rural
people, the circle represents doctors and the
square represents graduates, which of the
following represents rural private employees,
who are graduates 7

AG SediHo |DEL adihed,
|Szbzo (e PHaedy, JySo
Boies,  Odido DEEithed
JrOR, 1808 F8S' HQT/BS (rdoe
[Dat &8hed 08 Ardyod 7

1

JA

Which of the following diagram best indicates
the group of
india, Andhra Pradesh, Telangana

Bod 88 2 Do zrdsii¥o,

(1) 8
(3) 6

0[5 H54, S0rHON beTalad
HaDodNs ?

(1) {2} (3) (4)
(1) 3 4 (@ 1 2
Which of the following diagram best indicates
the group of
Sun, Moon, Stars

1808 4SO Ho Ardogh, o,
S |mrod S0 1Dadodod 7

QO e

(1 &) () (4)
‘) 3 4 (3 1 (4) 2

Series-C
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D0 1HE) Dol Fos

40318

Study the following arrangement of lstters
and characters carefully and answer the
quastion,
#BBG@ILT3HA%@DFKESBJQ1"
VTUZSW

If B% = LK, what is equal to AB 7

5o ad)s eice, Hde i
ST odidhdo TR, (10480
RSrordo oradbod.
46BG@ILT3IHA%DDFKESJQ1"
VTU28W

B% = LK &san® A 8 B08 dardio 7
(1) KF @ Q% (3) EK (4) DF
P, Q, R, S, T, U are seated in a straight line
facing North. R is third to the right of U and Q
sits second to the right of R. S sits to the
immediate right of P. Which of the following
represents the pairs of persons sitting exactly
in the middle of the line 7

P,Q R S T U 2§ 008 arddo
BS503R eyt Srdyamyd. R U Gl
B0 (DES Ardd Feod, Q, R & 506
1088 Dol Fdod Srdyoryd P §
D8N %435 S Srdyamd. 180d
TS D 2ot IDAS pAYSor HGIS

Srdye oy
(1) Qs SR (3) sQ (4) UC
Eight boys sitting around a clrcular table

and drinking milk in their own saparate
glasses with |D numbers 1 to 8, Boy-2 is
sitting between boy-6 and boy-7, boy-1 Is
sitting between boy-8 and boy-5. Boy-3 is
sitting to the third left of boy-7 and boy-8 is
sitting to the third right of boy-4. What is the
position of boy-5 with respect to boy-3 ?

{1) Third to right {2) Third to left

{3) Secondtoright (4) Second tolsft

1 0d 8 3380 8o Hoggen EDAS B
Hod rendh a8 SHTEOY Y ey
5D S8 TS T8 e
#hdar) . 25 2rend); 6:5, 7 arend
DS, 18 wrenddy; BS, 58 arend
Socsees’ Srdoymmyd. 385 arend) 78
renBf JADDHE) Srdd FNod, 8%
wrendy, 45 rends SudDHE) Surddsd
TS0 Srdam. 585 2renth, 38
2ren@ Syels 8503 Gt 7

1) %48 15% :nrﬁ‘g'rﬁoe‘j‘

(2) 5D (DY Jré Fros

(3) H0& (H8) D08 Food

13

70.

Choose the figure which Is different from the
rest,

S0 e3S DI TS Ho DB ?
5 4 3 3

10 alaX 2| a2
2|3 5{1 5N | 374

(A) (B) (C) (D)
(1) ¢ (2 D (3) A

,B
Choose the figure which is differentTrom the
rest.

1808 TS DS TS D00 A 7
M (&
cuIC|Dl1C
N v
(&)  (B) ( (D)

(1) © (2) D A 4) B

Select a suitable figure from the four
alternatives that would complete the figure
matrix.

808 Serd) Hodrgo Tabhordl AT
DET) 1Bod =L AR e
ey dire o hiodod.
Problem Figures | DDRPg Héren :

& | X%
LT
A 2 |

Answer Flgures / drorad Héren :

43 s 7| e

(3) (4)
(2 4 (3) 1 (4) 2 -

2

N N
2_1C =2
U )

F| X

o+

(1)
Ok
71. oose the alternative which is closely

resembles the mirror image of the given
combination.

fod ad)d Dodrfic sy QUJ:

PaDordE wa  ofjtr  &od
e ARy SrnfTedod.
ANS43Q12

1. AMSHEQIS 2. SIrOEMSUA

3. SUAEROSH 4.

FSOBEAMNE
Ma @4 @ 1 2

Eeries-c
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Rakesh ranks 15" in the class of 42 students
and there are 8 students below Rajesh rank.
How many students are there between
Rakesh and Rajesh ?

42 %08 dorihen o 2.8 $8ras" o¥n

Sy orjos 15, 020 orgos §o (Sod
B 08 A& o iRy, TERE S’

Do od derithen amydy ?
(1) 18 (2) 19 168 (4) 17
73. Find the correct numb e following In the

place of '\
57850 (7) S80S GOBSOVS LD
Howgd Effdod.

186 28 a2

22 15 7

35 34 38

29 47 36
M) 3¢ (2) 44 (3) 28 (4) 18

Q.No. 74 to 78 : Read the following Information

carefully and answer the questions given below :
Seven friends A, B, C, D, E, F and G are studying
different courses among Computer Science,
Commerce, History, Mathematics, Economics,
Communication and Physics not necessarily in the
same order. Each one of them have liking for a
different colour red, blue, green, pink, orangde, gray and
yellow, not necessarily in the same order. Three of
ihem are famales. A likes yellow colour but does not
study Commerce or History. The one who studles
Commerce, likes grey colours and is a female. E, who
is sistar of F, studies Mathematics and likes pink
colours. G studies Physics and likes red colour. F, the
wife of C studies History and likas green. B likes grey
and C likes orange, the one who likes blue studies
Economics.

74-78: 808 @d )& dSrooRL RS SO,
o0 (808 ansd) (¥ 080 SSreerOS 508 :

A B, C,D,E, F, G&® 7 20d Rardien J06
SoEd Fhyen ol RIS By, b,
SpieaheE,, JEE), SATRSAS, a5
28 [E00 shomr Sy, 708 (HB
Ldr DAG 6508 Sofhen JOD, De0,
aHis), Dok, mrdoa, (f ddded 28 1SS0
chomr aNndéTy®. T88  Suhd
Strdien A & Dl Sofb ®ot AR A BN
S8, Srabes ddS80 B, s08) S8 S8
Jre a8 It Sohed snaddod F sy
A0 wond B Srpeibess) Soasr 208
Sothd anaddod. 6 535y DSJar, 0
B0k adnderty, C Tnsy 2ro; ®chS F ard
JEHar efhds) Gomd annddos, B (@
Sotbers, ¢ odoa dohod apddEr, Heo
Sotha o 518 JETRE R SddErd.
40318
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74, Who is studying Computer Science ?
5368 530 D58 SuHET L 7
cC (2 D (3 A (4) E

Which of the following combinations of
colour - person and subject |s correct 7
(1) Orangs-C-Commerce
(2) Blue-D-Economics
(3) Bilue-D-Mathematics
(4) Pink-F-Histgry .
& S0 & ok - 358 - AFfe 2
Aodirio ABRG ?
Toon-C-5=08)
Heo-D-H808)
Hero-D-Srgeainddsy
(4) SHoS-F-2rb
Who Is studying Commerce 7

@ma DS Sy & 7

75.

76.

B (2) E (3) A (4) C
ch of the following is the group of females ?
808 S D DSararsn Y ?
(1)AEF (2) ABE (3) BG, B.EF

Which subject is studied by C 7
(1) Communication (2) Computer Science
(3) Commerce {4) Economics

@ HPED Schayehorryd ?

77.

78.

ErREas  (2) Soarielb Rs)
006 (4) &)

79. Find the correct number in the following in the
place of '?",
SF0%0 () T’ aomrdd JHBS
oW Feoiwob.
1 2 4 11
8 10 14 32
9 |23 |26 7 |
(1) 46 (2) 56 (3) 36 66
80. Findthe correct number in the following in the
place of '?". ;
B so (7) FSos gomrd)d IBS
HowED SAFH0a.
10 18 15
12—@-15 12—@-25 11 23
8 20 18
(1) 10 (2) 14 @1 (4) 12
81. Find the correct letters in The following in the
places of 7.
D880 () Fd0S aomdHd HBD
wiTed SfSod.
ADHNVHEZ?
(1) ‘u’.N UQ@ T,Z (4 XM
Series-C
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82,

A 500 metres h::n? train with 80 kmph speed
crosses a bridge In 90 seconds. What is the
length of the bridge ?

{1 1,860 m {E']) 2180 m

3) 1.500m (4] 1,750m

500 &0 S Ko 2k Ben ffotasy
90 8.2 Jos' .8 J0330 80 To8dS
38, & SRS FETos ?

(1) 1.850 088  (2) 2,150 Snesth

(3) 1,500 dvésthy 1,750 oered
The ratio between the-cifcumfarences of a

sguare and a circle |s 7:11, What is the ratio
of areas of the square and circle 7

a8 D00, Sydsne DepTerete

RAANE 711 mond, o S| 2adn,

DyEane FTe e 038 Jod ?

(1) 49:88 (2) 28:55 7:22 (4) 22:77

From the following two statements, one Is an

Assertion (A), and the second one is a

Reason (R). These statements can be true or

false. Choose the correct answer from the

given alternatives

Assertion (A) : In India, the |udiciary is

independent of the executive.

Reason (R) Judiciary favours the

governmenl and helps in the implementation

of its plans,

#1} A is true but R [s false,

2) Als false but R is true,

(3) Both A and R are true and R Is the
correct explanation of A,

(4) Both A and R are true but R is NOT the
carrect explanation of A,

808 asAS Bodh PSS 2,888
(DETFSS (A), DS sEeo (R). 2
VPID W, Sy FH%). od C-UA R
D55 7S ool KBS dSreTD)
Seuffdod,

(DBESS (A) : ardadiiols wah
D, g NOSTE  Spdden
R tSoiSor HATAraw,

58600 (R) : Trioh S5 (222068 foH e
Qs SEdE  L85edr on
e i enen A8 %08

TSSO,
@M] DTG, (A) DBIG sk,

(@) (A) SDSIS &, (R) HDSA.

(3) (A), (R) &0 Bodhr HBHD S8k (R),
(A) 8o OB Db,

(4) (A), (R) &0 Bodthr KBS 59, JoBaky
(R}, (A) 50 28 D58 52,

40318

86.

a7.

Find the correct number in the following in the
place of ‘7"
DT (7) FSoS" somd)S ABS

RO EiTSod.
13 |28 | 48 57
15 26 37 42
17 |24 |26 ?

(1) 28 (2) 20 (3) 24

27
A triangle has three sides as 5 ::rnrn and
8 cm. What is the area of that triangle
(approximately) 7
(1) 1Bem?(2) 20cm?(3) 15 cm?(4) 23 em?
a8 (Bdbzo Ty MHadven 5 Do, 8
0.8, 9 Roden wond e TS
CInE), BFTI0 Do T ?
(1) 18 o2 20 R0.an?
(3) 15 Ro.dy? @) 23 o
In & group of five persons P, Q, R, S and T,
one plays Tennis, one plays Chess and one
Hockey. P and S are unmarried women and.
play no game. T is husband of R. No women
plays either Chess or Hockey. Q is the
brather of R and he neither plays Tennis nor
Chess. Who plays Hockey in the aroup 7
P,Q R, 5 Te® achfhs Sdurros 2,85
TIRLR, 280 T, T8 58 wesest, P,
S o0 edadrd ey % D e
A, TOST, R B0 6. 2 Sofre S
T SR, &€ %0 escichd. A s RSB
Q 1AD N TR 5N edd o
RSITEros” 58 St eschady 7
(1) R 2 T (3 P 'D
Rama bought a new chair for 20% discount.
Had Rama got no discount, Rama would
have paid T 350 more. How much did Rama
pay for the chair ?

Oa §8 500, 20% A0S T8,
28 3¢ 5% 8306 30 SosESS
S T 350 S8y Thodsed SF8.

5080 68 Joa D AN

(1) 1,080 1,400

(3) ¥2.100 (4) 1,750

What day will be the 81* day from today, if
today is Monday ?

(1) Wednesday (2) Sunday

{3) Friday (4) Monday

& Tz FDardo sapdons, & Ha

0E 81 & 82 ) ardo eydiod ?

1) a2wdardo (2) ssdartio
DiFoGo (4) oo
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20,

From the following two statements, one is an
Assertion (A), and the second one iz a
Reason (A). These statements can be true of
false. Chocse the correct answer from the
given alternatives.

Assertion (A) : Water is essential for life.

Reason (R) : It is formead using three paris of
hydrogen and one part of oxygen.

(1) Alstrue but R Is false.

(2) AlsfalsebutR is true.

{3) Both A and R are true and R s the

correct explanation of A,

Both A and R are true but R is NOT the
corract explanation of A,

(4)

808 2S1088 Bod (DTS 288
(PASS (A), LFEE 800 (R). 2D
ABAD ST, ) S5 fod adyd
(e 0 0 DB DSTEED
Sofod.

(DS Dk

DaErssdoo.

(A) A0z

80 (R) : @8, Sardh arme arl8as,
a8 arfio i jzm oo A0S TG,

@ (A) DDA, (R) 0DSE .
(2) (A)RBAS 50, (R) B,

(3) (A} (R) e Todyr AB Sbakw (R),
(A) S0 KBS Dadde,

“(4) (A), (R) &0 Dot 5B 5A), SBain
(R), (A) 0 9BS 2588 o,

40318
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a1.

From the following two statementis, one is an
Assertion (4), and the second one Is a
Reason (R). These statements can be true or
false. Choose the correct answer from the
given alternatives,

Assertion (A) :India i known as g

democratic country.

Reason (R) : India has its own constitution.
(1) Alstrue but R is false,

(2) Alsfalse but R is trua.

Both A and R are true and R is the
correct explanation of A,

(3)

Both A and A are true but B is NOT the
correct explanation of A,

(4)

Botd ass08S Dotk (HI3ard .88
DSTDS (A), DFES S0 (R). 3
MDA AT, Sy Ty Sod ad s
PrErsry aird ol HBS AT
gdofdod,

DS (A) : SST0 |Derariny
Séom D rodod.

s8mo (R) : rdsTdo &8 Do
orargofio SO0 God.

(1) (A) DTG, (R) AT 5°Cw.

(B) (A) DDSO T, (R) DDIG.

L (8) (A). (R) 2 Dodr 2B S8k (R),

(A) %0 DTS DSGED.

(A), (R) &2 BOMT HOSD 8, Sbaky
(B), (A} 50 DBS DS 59,

Series-C
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The following gquestion consists of a
statement followed by two arguments | and ||,
Choose the correct alternative from the given
optians,

Statement : Is paying heavy amount to
kidnappers of political figures, & proper
course of action 7

Arguments ;
I Yes. The victims must be saved at all cost,

Il. No. It encourages the kidnappers to
continue the blackmailing activities.

(1) Neither I nor Il is strong,

(2} Bothland Il are strong.

(3) Only argument | is strong.

(4) Only argument || s strong.

S0 Bd)d WS a8 HE0S Bom

TON, I, 0 o, DA R
Qdroard’  ¥pS (DS Dy
Soffdod,

D508 : oafch Tabives Ll i ps)
DS 788 DY Jndod 2w

A2 530 DS S8 7

aESeSen :

L ®gd. rddeods Jod pi) il
oA 88 otvrd),

I =& =zerod o§ ool
wdseny TaHordd 8o DO
|85 )5r0 DD s s,

(1) 168, 1 rdden a0 Ad o,
@) 13E T TSden eZ]sD,
B) 1TES S aoos,

1SS SrBh 2008,

40318
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a3.

The following question consists of a
statement followed by two argumeants | and |1,
Choose the correct alternative from the given
optians.

Statement : Should we scrap the 'Public
Distribution System' in India ?

Arguments :

I Yes. Protectionism is OVer, everyonsg
must get the bread on his/her own.

IIl. Yes. The paor do not get any benefit
because of corruption.

(1) Eitherlorllis strong,

(2) Neither I nor i is strong.
(3) Only argument | is strong.
(4) Only argument |l is strong.

S08 2DIS (DS a8 (D563, Bok

e, 1, I OO, @D

dSrgad 388 (B i

SuRTSod.

DS : SSTioS (Der Hsso
23§e300) &Y T 7

T Sedew :

[ ®34 S5 Dorde anitod. [Ded
258 o8 eFoR)y od
RNOrBOLE T,

1. 8. OOSTOBSS50 3636 e ok
A Froddoicy.

(1) 1788 Bor 1l 5 S wogod.
@: S, 1 T ¥e0 DOBSD 59,
,(3) TGS A& 20308,

(4) 1TSS S peghod,

Series-C
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If ‘p' means +, 'q' means —, ¥ means x, 's'
means +, what is the valug of
1150216pB7r168s12p406q258 7

p @ot + &, q 8ot - &), r o
X @), 5 0T + WONS,
115g216pB7r168512p4064258 Sens S0 7
(1) 543 (2) -&72 1265 (4) —486

Which word does NOT belong with the others
(1) Paddy (2) Jowar

(3) Wheat (4) Mustard

1308 ¢3S D30T S0 O ?

(1) &8 (2) &5y

(3) fictsd TR Wyl SV

If odometer |s to speed as compass is to

(1) Needle (2) Direction

(3) RADAR (4) Hiking

L8 el FrRE Jouohw ‘Eosrmy
T8 Sonokood ?

AAS (Hnew)
éb@ﬁi:s (&)
(31 o@b
(4) 8ol dhde)

Find the odd one from the following :
08 &S Ddyomr @od DA ?
RTWZ (2) PRUY
(3) MORV (4) HJMQ
In a lake, there are 10 steps labelled using
numbers from 1 to 10. Starting from step 1,
every minute a frog jumps to the fourth step
from where it started i.e, 5 and from 5 it would
go to the step 9 and from 8 it would go o 3
etc. Where would the frog be at the 60"
minute if it starts from 1 7
2.5 FoHd' 1 S o8 dod 105 woE
2650 800280 10 Tdw Sercy. 2.5 52)
e Qaarad @8 ad) Déy od
arend Déw  E Arseshed.
Sorardasy 1 od 55 Théps, 5 od
825 Toeps, 8 Sood 35 Toépt Srtocuod.
135 LY SHod Fnden DES e £5) 605
A0S 57 Dty NS FoENod 7
5 (2) 8
(4) 3

7

18

@ Sr)

A river flows from west to east and on the way
turns left and flows some distance, then goes
in a semi circle around a temple, and finally
turns left in right angles. In which diraction is
the river finally flowing 7

(1) North (2) South

(3) East (4) West

28 S8 J8HE ood Srd) Das
Poiredyod. & |Hoirmos IO
Saf @0 FTod &rdo (Hairdods
Sars, 2.8 N iy of IyEsdods
Bclrdod, DS8mr wonfood IS
D% S0A0d OB S8 2 HIS
SHairedeyob 7
(1) &edso (2) &S0

(4) Db

100. Starting from a point a person walks 1 km to

¥

101.

102.

east, then he turns to the south and walks for
5 km. Next, he turns east and walks 2 km.
After this he tums to the north and walks for
8 km. How far Is he from his starting point 7

2.8 (DTd0 Sod 2chendd 28 538
$rd) BIS" 1 km SGOS S, SEmo
D% @8R 5 8Dy dbordh. © Sfard
@b ) Zaaso 00 2 km SBT3, &
Snared eedihn o Zipto =60 9 km
AT s T 2200enE0M

R0 0D Do ArdosS Gy ?
5 km (2) Bkm
(@) 3km (4) 4 km

If PAQ implies P? + QF, PBQ implies P*— Q7
then what is the value of (5A8) B (3A7) 7

PAQ, P2+ Q2 0 ArO™ PBEQ, PE— @2 Q
O (SAB)B(3AT) Dend Josh 7

(1) 347 357

(3) 287 (4} 327

If 6 x 8=10and 8 x 9 =/145, then what is

the value of 9 x40 7
Bx8=10u8ciy
f@.ﬁu’:é a)Odh ?
1
(4) 40

B x 9 =145 @ona,
(1) 81

@ V197
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Q. No. 103 - 107 : Read the following information

carefully and answer the questions given below :

A, B, C, D, E, Fand G are seven persons who {raval

to office every day in a particular traln which stops

at five stations - S.A.Nagar, ES| Hospital,

Erragadda, Bharat Nagar and Moosapat

respectively — after It leaves the base station,

. Three among them get in the traln at the base
statlon.

. D gets down at the station next to the station
al which F gets down,

. G gets in at Erragadda and gets down with C
after having passed one station.

. A travels between only two consecutive
stations and gets down at Moosapet.

. B and D wark in the same office and they gel
down at Erragadda.

* None of them gets In at ES| Hospital.

. Both C and F get in at the first station after
the base station.

® E gets in with two others and gets down alone
at the station next to the station at which D
gets down.

. Nane of them gets down at S.R.Nagar.

103-107: (808 SSraroR) arfdm SAD,
& (Sod &) (D)o SSrerad job.

D, D R, 4 2 D B e 7 508 Sien bt}
T~ sd% o3 pend’ Hairso FTH. ©
B BO PASS' achends I%.aB.SKE,
QD TS, EHG, SESSHE, JarRrDes

o 5 padS uhdod,

o P SPHoy Bh PASS Bew
PRWE L sV

o D OfN PAS ddad PasSS A
Sfberch,

2 JONF DASS 28, 8 DAS oredS
SHaa HE O Aterd,

¢ o) Doch (DEDHES God DaSe S
(AP Sararase A,

D S agdr 28 ebns® Ty
JEHGS" A,

* BORD FRIOS PASS IBEF 85,

e D S F@D VS sdhos 3T
STl BASS' Doy,

o 3 NE 2P0 0D Pen I8, & BAS
DAS BT DRSS 2.6,8F Abes,

o D@l B PASS' 38> AN,
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103. At which station does G gets down 7
(1) Erragadda (2) Bharat Nagar
(3) S.R.Nagar (4) Moosapet
3, 2 WS atherd 7
(1) )& (2) PEESME5
(3) a5, SHE SR He

104. E gets down, how many stations after F gets

down ?
(1) Threa (2) Four
(3) One (4) Two

2D AN Shard 55 DaASS' 3
Sherd ?

(1) 32 2) 4a
(3) 1= 2&5

105. At which station does E gets down ?

(1) Bharat Nagar

(2) Data inadequats,

(3) ESI Hospital

{(4) Erragadda

2 Q VASS” Btverdin 7
@ BEE 38

(2) w0 vdrordo

(3) 3D Fhywd

(4) NSHE

106. At which station does A gets in 7

(1) Erragadda
(2) Bharat Nagar
(3) S.R. Nagar
(4) ESI Hospital
2w WASS oyEdy 7
(1) GG

@ BOEINE

-(3) dR.ab. 545
(4) @D Fhyed

107. At which station does B gets in ?
(1) Erragadda (2) Bharat Nagar
(3) S.R. Nagar {4) Base Station
D, O VASS" Doz ?

(1) G (2) LEESH5
(3) I, 6 @ 39 9aS
Series-C

[
|


suryaedu
Oval

suryaedu
Oval

suryaedu
Oval

suryaedu
Oval

suryaedu
Oval


108.

108.

110.

Read the following statements carefully and
choose the right conclusion :

Statements :

(i) All scholars ara observers.

(i) Some boys are scholars.

Conclusions :

(1) All observers are boys.

(2) Some scholars are not observers.

(3) All scholars are boys.

(4) Some boys are observars.

Bod 20N (DSBTON SAD ABA

D5 SS08 7

DHeSdaren :

() HEFEKeoGEr HETesD.
() Fosdos arend HOFEHHH.
AFYmen :

(1) HEIROOLET arend.

(2) FosHod HBTRHEen H8Regen s,

3) HBTGHL0SEr arend.
@ Fods0d arendd Hodesiey,

In a particular code language @ means
‘greater than', # means 'less than', $ means
'not equel to' and % means ‘equal to'. It is
given that Q@P, 3P% 2Q, Q3A, and Q%3R,
then

2,8 B8 pas @ wod > # ®OB <
$ ot = % ®0T =, ,

Q@P, 3P% 20, SR, Q% 3R wond

(1) 2R%P 2 PS 4H

(3) R@P P#2R

In & particular code language, 'lop eop aop
fop' means 'Doctors are above laws’, 'Tup cop
bop gop' means ' Books were above table’,
‘acp dop uop gop’ means * Doctors stopped
raading books' and ‘cop jop eop uop' means
' Reading maps wera laws’, In the same way
‘Books are reading laws' means

2,8 | DB §8 20 lop eop aop fop’
ot 'aib) ed J85'S R, ® fop cop
bop gop' @0ty ‘28 IB IBD Toend”
@, 'aop dop uop gop' WOt ‘@HE)
o8 6&orh a8y e, 'cop jop eop uop’
ot ‘Do D) H5 ek’ wans &F
rads ) e 880F ol wob

(1) ‘oupcop lop aop'
{2) ‘mop bop eop uop'

‘bop cop uop eop’
@ 'lop gop eop uop’
40318
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. From the four positions of a dice given below,

find the colour which |s oppoesite to yellow.
8o DS w8 F0S TBnE; e

{1) 32

Taod fAodoD  yellow Yotso
S5BBsor &Sy Soth 28 ?
Yallow, [+ ] Blue Fed
: : :
Crange viclet [@) | Red |2) | Rose | Z
(1) Rose (2)) Violat,
(3) Rad Blue

. In certain coding method, the word HRDP Is

encoded as XHTF. What Is the code word for
the word LVHW 7

2,& B8 2radS HRDP Q XHTF r €6 &7,

LVHW 2 & Sedorr 86 Tards ?
{1} BMLX YLMX
(3) YMXL BLXM

. How many triangles are there in the following

figure ?
808 S80S’ IR | Beberren aryow ?

(1) 24
(3) 36

. How many squares are thers in the following

figure ?

208 H0s’ IR SHGEren Sesy ?

. 36
(@3

(3) 24

. In certaln coding method, the word

QUESTION is encoded as RTGQWFSJ,
what Is the code word for the word
RESPONSE 7

2.8 €A HGSHES QUESTION & Do)
RTGOWFSJ * £5 D%, AESPONSE &8

SUDKNRAW

T der 8 oo 7
SDUNRKWA  (2) SUDRNKAW

(4) SDVNKRWA
Serfes-C
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116. Each of the following questions comprise of a

statement and two Conclusions | and Il
Choose the correct alternative from the given
options.

Statement : A boss asked three managers to
either submit thelr resignations by the next
day or face termination orders from sarvice.
Two of them had submitted their resignations
by that evening.

Concluslons :

I The next day, third manager would also
resign.

Il. The boss would terminate his services
next day.

(1) Either ! or Il follows.

{2) Neither | nor |l follows,

{3) Only conclusion | follows.

(4) Only conclusion Il follows.

Sodd AN NS a8 (HEeS, Dok
SoyEred gaon. 20N dSrod
RBA S|y dir)) Sfsod.
DELS : 28 vdTO dthas Fadr
Swhd T2 ocdrsr Jared
58 aliod Sod ALIVS
adden  ©odhFiod I8
Sar)d. & Gz abomdd —od
AP TrdTrSaren A8 0T,
Sorjaren

I othded 8z Sards HTb droe
o darar Sard.

. @050 6D Frsd @al)
A E5iosS" oD Feiard.

@ 180 11 Somso LSINVE ol Ta TS
(@) LI Soparen e8d80:59.
(3) 180980 SrSsh @nHoNon.
(4) 11 807850 SM&$H @068,
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117.  Each of the following questions comprise of a

statement and two Courses of action | and |1
Choose the correct alternative fram the given
options,

Statement : The avallability of imported fruils
has increased in the indigenous market and
so the demand for indigenous fruits has been
decreased.

Courses of Action :

l. To help the Indigenous producers of
fruits, the government should impose
high import duty on these fruits, aven if
these are not good quality.

Il. The fruit vendors should stop selling
imported fruits so that the demand for
indigenous frults would be increased.

(1) Neither | nor |l follow

(2) Both | and Il follow

(3) Only | follows

(4) Only 1l follows

Socs adys DS a8 1HELS, Dok

S5 1, I smmy aw, 20)S dSrgas

R0 [PErar) aira) Sfsod.

(DELS : FIaH S90S Ahda

Daofod)y dod o oR, D

D0@5 Sarob éhod,

SSgen :

L Bch de)Sordhes HIFabndeo
TO%, @d Hod JHotd soH)e88
Db to T8 A oy
50 Sm DS,

. Hod edfocdhen  Ohds
30805 Dol @080
NOLIADG0 Sos BcH Hodd
Aaroh DHE&0S,

(1) LI e e250805:3.
(2) LI exedd0arow.
(3) Iae5ah eoddfyoA.

I S5 808068,
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118. Each of the following questions comprise of a
statement and two Conclusions | and |l
Choose the correct alternative from the given
options.

Statement : Whenever there |5 a malch
between India and Pakistan, Mr. Acharyulu
takes lgave from his office, Mr. Acharyulu s
in office today.

Conclusions :

. There Is no match between Indla and
Pakistan today.

. Mr. Acharyulu always goes to his offiice
except on India-Pakistan match days.

(1) Either | or Il follows.

(2) MNeither | nor Il follows.

(3) Only conclusion | follows.

(4) Only conclusion |l follows.

8o DS 1HH1S a8 (HILS, Bod

Sy aaon. I0S dsreed

5B |DErgdr oir) §ofdod.

DE&S : 2r6S, TrErSe HNE; SRy

wd) 200y eordien shidi DO

GEs), soden & B shind

G G

Boaren

L 88 FEarse ey & O vd
e

. 288 iIrce 05 el 2000

Baren DAY oothen G
whis ITeh.

(1) 18 1 8odo aHHeRod.

(2) LI Sogare o800t
I 80780 Srigth wdoeinod.

(4) I 8080 SrEsh oddood.
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119, Each of the following questions comprise of &
statement and two Conclusions | and Il
Choose the correct alternative trom the glven
options.

Statement : Parents have prepared 10 pay
any price for an elite education to their
children.

Concluslons :
| All parents these days are very well off,

Il. Parents have an obsessive passion fora
perfect development of their children
through good education.

{1} Either | or Il follows.
(2) Meither | nor |l follows.
(3) Only conclusion | follows.
(4
Bocs 23S YY" o8 (D80S, Bod
BoTren BEr) o0, )N asrpred
2B (DErdr oird)y ofbod:
19%esS $Odohen T8 PO
@SS DBy FoH Jod OO
" BOosTazT MO Gy .

Only conclusion Il follows.

Sorren

L & Fzd $OGotheoddr edios
fea0dnen,

I &od DGy oo T8 YLD
Hefrdor e@dSye TArod)
©HHD OG0l HE DAFob,

(1) 18c 1 Sodo ©00008.

@) 1,1 Soaren @80,

(@) 180980 aresh @Nddnod.
11 S0 Arash whdoNod,
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Q.No. 120-124 : Read the following passage
carefully and answer the questions glven
below.

The world |s now warmer than at almost any time
since the end of the last ice age and, on present
trends, will continue to reach a record high for the
entire period since the dawn of civilisation, a study
has found. The study published in the journal
“Science", alms to give a global ovarview of Earth's
temperatures ovar the past Eleven thousand three
hundred years - a relatively balmy period known as
the Holocene that began after the last major ice age
ended and encompasses all of recorded human
civilization. Their data (compiled by studying such
things as ice cores, fossils and ocean sediments)
looked back over a much lenger era than previous
rasearch, which went back 1,500 years.

Scientists say it is further evidence that modern-day
global warming isn't natural, but the result of rising
carbon dioxide emissions that have rapidly grown
since the Industrial Revolution began roughly Two
hundred and fifty years ago. Scientists say that if
natural factors were still governing the climate, the
Northern Hemisphere would probably be dastined to
freeze over again in several thousand years.
Instead, scientists belisve the enormous Increase in
greenhouse gases caused by industrialization will
almost certainly prevent that.

Shaun Marcolt, a geologist at Oregon State
University, says “global temperatures are warmer
than about 75 percent of anything wa've seen over
the last Eleven thousand years or so." The other way
to look at that is, 25 percent of the time since the last
ice age, it's been warmer than now. I's taken just
hundred years for the average temperature to
change by 1.3 degrees, when it took 5,000 years to
do that before. By the end of the century, climate
warming models predict an additional increase of 2
to 11.5 degrees, due to large quantities of carbon
emissions, the study noted.

40318 23

120.

121.

122.

123.

124,

When did the Holocene begin ?

. @ After the major lce Age

(2) Before the major Ice Age
(3) Befare the Industrial Revolution
(4) After the Industrial Revalution

Additional increase of temperatures is due to
(1) lce age

(2) hydrogen emissions

@ carbon amissions

{4) fossils

What was the data for the research study
based on ?

(1) MNumber of storms and ocean currents.

{2) A global
tlemperature,

overview of earth's

(3) Records of temperature in the northern
Hamisphers.

Analysis of ice cores, fossils and ocean

sediments.

The earth’s temperature has increased
quickly sincea

(1} The Northern hemisphere

{2} 1500 years ago

(3) The Holocene

The Industrial revolution

In 100 years, what Is the change in the
average temperaturs ?

(1) 2degress (2) 11.5 degrees

{3) 11.3 degrees 1.3 degrees

Series-C
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Q.No. 125 to 128 ; Read the following passage
carefully and answer the questions given below.
Unveiling a2 mini-Budget of sorts in the middle of the

financlal year, the Goods and Services Tax Councll
has announced & reduction in the tax rates for over
glghty five goods. The applicable indirect tax rates
on consumer durables such as television sets,
washing machines and refrigerators, along with a
dozen other products, have been slashed fram
twanty-eight per cent to sighteen per cent. The tax
rate on environmentally friendly fusl cell vehicles
has bean reduced from twenty-sight per cent 1o
twalve per cent, and the compensation caess levied
on them dropped. This leaves just aboul thirty-five
products; including tobacco, automoblles and
cament, In the highes! tax slab of the GST structure.
Rakhis without semi-precious stones, as well as
sanitary napkins that attracted twelve per cent GST,
have been exempted from the tax allogether.
Several other producis have been placad in lower
fax slabs, including those from employment-
intensive sectors such as carpets and handicrafis,
On the sarvices front, too, there are
important tweaks and  clarifications.  Overall,
industry and consumers may consider these rate
culs, largely on products and services of mass use,
as a stimulus fo drive consumplion ahead of the
festive season, Whichever way one looks at it, the
GST Council's 28" meeting has significantly altered
the course of the nearly 13-month-old tax regime.
The actual impact of these changes on product
prices and consumption demand will be visible
soon, but the government's confidence in such a
rate reduction gambit indicates it s now comforiable
with revenue yields from the GST.

Estimates of revenus losses from these rate cuts
vary widely, but It's too early to worry about the
impact on macro fiscal numbers. It implamented
well, the revenue |ost could be offset by higher
consumption that may lead to more investmeants
over time. Moreover, improvements In compliance
can be expected from the Council's decision to
turther simplify paperwork for small and medium

enterprises. But there are two major concemns. First,
40318

since the new rates are 1o kick in from July 27,
companies may not have enough time to rewark
pricing strateglss and replace existing markel
inventory, falling which they could face ant-
profiteering action. Secand, members of the Council
have for the first time guestioned its functioning and
alleged that not all of the changes and rate cuts
were placed on the agenda. For a tricky tax that is
still & work in progress, distrust between the Centre
and the States would make further rationallsation
difficult. Such friction must be avoided in a system
in which the OStates have so far worked
in tandem with the Centre.

125. ‘What makes further rationalisation of GST
systam difticult 7
(1) Anti-profiteering action
(2) Lack ot compliance
Distrust between the Centre and the
States
(4) Complexity in lax structure

126. What is the consequence of starting new

GST rates from July 27" 7

(1) Reduced conflict between Centre and
State.
Companies may not have enough time
to rework pricing strategies.

(3) Revenue from the taxes will be
decreased,

(4) Simplitied paperwork for small and
medium enterprises.

127. The Goods and Services Tax Councll has
announced a reduction in the tax rates for

over goods.
(1) 28 2) 32
(3) 35 @ 85

128. The tax rate on environmentally friendly fuel
| vehicles has been reduced to
12% (2) 10%
(3) 28% (4) 18%

120. Which of the fellowing goods are exempted
from GST ?
Sanitary napkins -
(2) Carpels
(3) Cement
{(4) All Rakhis with precious stones

Serics-C
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Q.No. 130 to 134 : Read the following passage
carefully and answer the questions given below.

It should be remembered that the nationalist
movement in India, like all nationalist movemesnts,
was essentially a bourgeois movement. It represented
the natural historical stage of development, and to
consider It or to criticise it as a working-class
movement & wrong. Gandhi represented  that
movement and the Indlan massas in relation to that
movement to a supreme degrea, and he became the
voice of Indian people to that extent. The main
contribution of Gandhi to India and the Indian massés
has been through the powerful movemenlis which he
launched through the National Congress. Through
nation-wide action he sought to mould the millions,
and largely succeeded in doing so, and changing
them from a demoralised, timid and hopeless mass,
bullled and crushed by every dominant intarest, and
incapable of resistance, into 2 people with self-respect
and seli-reliance, resisting tyranny, and capable of
united action and sacrifice for a larger cause.

Gandhi made people think of political and econamic
Issues and every village and every bazaar hummed
with argument and debate on the new ideas and
hopes that filled the people. That was an amazing
psychological change. The time was ripe for it, of
course, and circumstances and world conditions
worked for this change. Bul a great leader is
necessary to take advantage of circumstances and
conditions. Gandhi was that leader, and he released
many of the bonds that iImprisoned and disablad our
minds, and none of us who experienced it can ever
forget that great feeling of release and exhilaration
that came over the Indian people.

Gandhi has played a revolutionary role in India of the
graatest importance because he knew how to maks
the mast of the objective conditions and could reach
the heart of the masses, while groups with a more
advanced ideology functioned largely In the air
because they did not fit in with those conditions and
could therefore not evoke any substantial response
from the masses. It Is perfectly true that Gandhi,
functioning in the nationalist plane, does not think in
terms of the conflict of classes, and tries to compose
their differences. But the action he has indulged and
taught the people has Inevitably ralsed mass
consciousness fremendously and made social issues
vital. Gandhi and the Congress must be judged by the
policies they pursue and the action they indulge in.
But behind this, persanality counts and colours thoss

policies and activities. In the case of very exceptional
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person like Gandhi the question of personality
becomes especially imporiant In order to understand
and appraise him. To us he has represented the splrit
and honour of India, the yearning of her sorrowing
millions to be rid of their Innumerable burdens, and an
insult to him by the British Government or others has
been an Insult to India and her people.

130. Gandhi played a revolutionary role In India
because he could

(1) see the conflict of classes
{2) lead the Indian National Congrass
{(3) preach morality

reach the heart of Indlans

Groups with advanced Ideclogy funclioned in
the air as thay did not fit in with

(1) the class consciousness of the paople
_(2) the differences among masses
objective conditions of masses
(4) the Gandhian ideology

131.

132, Which one of the following is true of the given
passage 7
(1) The author is neutral on Gandhi's role In

India's freedom movemeant,

it is an account of Indian National
Congress's support to the working-class
movement.

The passage is a critique of Gandhi's
role  in Indian movement for
Independeance.

The passage hails the role of Gandhi in
India's freedom movemant.

(2)

(3)

133, The change that the Gandhian movemant
brought among the Indian masses was

(1) Technological ({2))Psychalogical
(3) Physical (4) Cultural

134, To consider the nationalist movement or to

criticise it as a working-class movement was
wrong because it was a

bourgeols movemant

movement represented by Gandhi
(3) historical movemeant
(4) wvolce of the Indian people

Series=C
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135.

136.

137,
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Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. The Centre has since issued rules for
conservation and management, and
chosen 115 water bodies in 24 States for
protection support, but this Is obviousiy
too little,

B, Loss of natural wetlands is an ongoing
catastrophe in India.

C. A decade ago, when the Salim Al
Centre for Ornithology and Natural
History released a conservation atias for
all States using space applications. |

D. Mareover, research studies show that

the concentration of heavy metals in
such sites Is leading to bioaccumulation,
thus entering the plants and animais that
uitimately form part of people’s food.

E. It reported the tragic fact that 38% of
wetiands had already been lost
nationally; and shockingly, in some

districts only 12% survived.
CBADE -(2) CABED
BECAD (4) BCEAD

Find out the proper sequence of the following
sentences to form a meaningful paragraph.
A. Bolder isn't always better, however.

B, Red, orange and purple are vibrant
colours with energising effects to
counter the blues.

The eye must catch it, look at it and
study it.

Too much colour can be ovarwhalming
to some people.

So, if not the change of paints, go for a
bright-coloured table-cloth Instead,
BECAD (2) ABDEC

ABCED (4) BACED

C.

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A, 'Salety first' Is the last concern of Indian
road users who think they are like the
provarbial cat with nine lives.

B. Peorhaps our numerous engineering
colleges and technical instituies can
think of such projects.

C. It should be made mandatory to have
rumble strips or speed bumps on either
side of such crossings.

D. In order to minimise accidents,

E. Powerful blink lights and loud hootars
that can be activated just before a traln

crosses should be thought of.
(1) ADBCE ADCEB
(3) AEBDC DECBA

138,

138,

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. This sector employs 42.5 lakh Indians
directly, and has created over twice as
many jobs indirectly In other fields.

B. Automation would then replace entry-

level jobs, denylng jobs to college-

leavers, and lead to the retrenchment of
mid-level professionals who couldn't
ramain relevant via constant reskilling.

The landscape of the $150-billion IT

sector, one of India's largest job-

providers, is changing fast, owing 1o

technologlcal advances in automation

and robotics,

D. Butitis gradually moving away from the
linear growth model, with rise in revenue
matching net employee addition, to &
non-linear one where income growth is
Independent of additional hiring.

{1} BADC CADB

(3} CDBA {4} ABDC

Find aut the proper sequence of the following

sentences to farm a meaningful paragraph.

A. By this measure, a poor Indian farmer
with [ittle debt and little assets can and
up “richer” than & Wall Strest banker with
little assets and a large student loan.

B. In 2015, when the report was issued,
there was criticism of the reports
methodology,

C. Inlindia, as per that report, things are just
as plain, as against the richest 1% of
Indians hold as much waalth as that haid
by 58% of the Indian population.

D. The critics argued that the report

assumes wealth is assets minus debt,

E. From a recently released report by
Oxfam, the global charity organisation,
wa learn that eight rich people own as
much wealth as half the world's
population in 2016.

F. These statistical Issues aside, what the
Oxfam repot does show isnt
necessarlly who is really poor In the
world but that wealth is a good proxy for
the abllity to influence politics via
legisiation or campaign contributions.

(1) EDBFAC EBDAFC

{3) BECDAF (4) BEDAFC
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140,

141,
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Find out the proper sequence of the following

sentances to form a meaningful paragraph,

A. Morsover, salaries in public sector
enterprises are not as competitive as
those offered by private or foreign
corporats,

B. This trend should be a wake-up call for
stakeholders to  examine why
employees ara  seeking  better
opportunities with private companies In
India and abroad.

C. Public Sector Entarprises (PSEs) have
been experiencing severe challenges In
attracting, motivating and retaining their
key staff.

D. Having identified these as the reasons
why employees leave PSEs, it is
important to empower stakeholders to
find ways to remedy the situation.

E. One reason Is that young employees
lured away by private firms ars more
willing to undertake professional risks.

F. Employess In spacialist roles especially
have become increasingly difficult to

retain,
(1) FCBAED (2) FBCAED
(3) CBEFAD GFEEAD

Find out the proper sequence of the following
sentences to form a meaningful paragraph.

A. Japansse toys, for instance, are in great
demand despite the heavy import duty.

B. The toys that they produce are, almost
without exception, of inferior quality.

C. Their manufacturers hers need to be
raminded of this.

D.  Butmaking them is no child's play.
Toys are meant for children.

F.  Not surprisingly, many parents prefer to
buy the imported variety even though
these are usually much more expensive.

(1) ECBFAD EDCBFA

(3) ADBCEF (@) ABDFEC

m

142.

143.

144,

Find out the proper sequence of the following

sertences to form a meaningful paragraph,

A. That no amount of policing can salve the
issus.

B. The fact that the stadium was not full and
that touts outside were having a fieid day
shows

C. Itis odd that large sections of the media
did not report the black market In tickets
during the Royal Challengers

D. Bangalors-Chennal Super Kings IPL
match in Bengaluru,

E. Something that should have been taken

seriously.
(1) CDEBRA (2) CADEB
(3) CEDBA @ CDBEA

Find out the proper sequence of the following

sentences to form a meaningful paragraph,

A. The percentage of population below
poverty line has been decreasing.

B. Therefore, it is a welcome slgn, but wa
must guard against our escalating rate of
population growth.

C. Poverty alleviation is one of the most
significant programmes.

D. Although this change Is slow and
gradual, it appears to be consistent.

E. The extent of success of this programme
can be ssnsed when we study the

@ Propaortion of people below poverty line.

CDBEA (2) ABDCE

(3) EDBCA (4) CBDEA

Find out the proper sequence of the following

sentences to form a meaningiul paragraph.

A, Hence, the meal that is taken In the
morming Is breakfast,

B. The word originated from the fact that
after dinner, we don't eat the whole night
and this is a long time for tha body to go
without food,

C. During day time, we keep on eating and
munching after evary 3-4 hours.

D. People often ask as to why breakfast is
Important.

E. But the duration between dinner and
breakfast is pretty long, semetimes may
be aquivalent to a fast,

F.  The answer lies in the word ‘breakfast
Itseif.

(1) CBEFDA (2) CDBEFA

@ DFBCEA (4) DBEFCA
Serles-C
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145.

Each of tha following questions comprise of a
statement and two Assumptions | and |l
Chooss the correct alterative from the given
options.

Statement : It is desirable to put the child in
school at the age of 5 or so.

Assumptions :

| At that age the child reaches appropriate
level of development and Is ready to laam.

Il The schools do not admit children after six
years of age.

(1) Either | or Il is implicit.

(2) Both | and Il are implici.

(3) Only assumption | is implicit.

(4) Only assumption Il is implicit.
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(4) Maradd M@ AVBTDIA.

146. The following question consists of a

statement followad by two arguments | and |11,
Choose the correct alternative from the given
options.

Statement : Should the strikes be banned
legally in India ?

Arguments :

| Yes. Because strikes hamper production
and create arlficial scarcity of essential
goods.

Il No. Because the workers will lose the right
of expression and would be subjected to
managerial debates.

(1) Either | or Il is strong.

(2) Both [and Il are strong.

(3) Only argument | is strong.

(4) Only argument Il is strong.
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147.

Each of the following questions comprise of a
statement and two Assum ptions | and |,
Choose the correct alternative from the given
options.

Statement: In the last year, Osmania
University has launched a number of
innovative courses for the better future of its
studsnts,

Assumptions :
. These courses may attract students,

ll. Osmania University Is conscious about
the future of students.

(1) Eltherlarl s implicit,

(2) Both | and Il are implicit.

(3) Only assumption | is implicit.

(4) Only assumption |l is implicit.
Sod =N (Hhew ¥ (PSTATNEA
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148. Eachof the following questions comprise of a

statement and two Assumptions | and Il
Choose the correct alternative from the given
options,

Statement : Training must be given to all the
employses for increasing productivity and
profitability,

Assumptions :

I Training is an essential component of
productivity.

ll.  Profitabllity and productivity are
supplementary to each other.

(1) Either | orllis Implicit.

(2) Both I and Il are implicit,

(3) Only assumption | is implicit.

(4) Only assumption Il is implicit,
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149,

Each of the following questions comprise of &
staterment and two Courses of action | and II,
Choose the correct altemative from the given
options.

Statement : In one of the worst accidents on
a railway level crossing fifty people died when
a bus carrying them collided with a runmning
train.

Courses of Actlon :

I The train driver should be immediately
suspended for negligence on his part.

Il.  Thedriver of the bus should be punished
for negligence on his part.

(1) Neither | nor Il follow

*(2) Both!and Il follow

{(3) Oniy | follows

(4) Only Il follows
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150. Each of the following questions comprise of a

statement and two Courses of action | and Il.
Choose the correct alternative from the given
options,

Statement : There are more than 200
villages in the hill area of Bihar which are
severely damaged due to cyclone and |t
caused a burden on rehabilitation work.

Courses of Actlon :

|. Peocple of hill area should be shifted to other
safer places.

|, State Government should ask for mora
financial support fram Central
Governmant.

(1) Nasither | nor Il follow

(2) Bothland Il follow

(3) Only | follows

(4) Only |l follows
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15. 1 40. 4 65. 4 90. 3 115. 4 140. 3
16. 1 41. 1 66. 4 o1. 1 116. 2 141. 4
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